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And let us be concerned that perhaps she  — 01 AN R2w WITN
was ;732 while she was betrothed to him

OVERVIEW
After the X713 cites the dispute between *wX 271 X217, the X773 asks, 1NN RAw WM
nn171. There is a dispute between >"w7 and N1BOIN, as to what the X713 is asking.

mooIN negates a purported explanation of the question wien:!
= 1999 NIDIND DIINA NIYL PYLY D122 1N INNN 2‘["1ﬂ‘1 M9 N

We cannot say that the X3 is asking, why should he not be allowed to claim

2°71n2 niyw in order to prohibit her on him -
= PHNN PR POV PHNN POV RPIOD NTN NIN NIIDT NN PHNN NHY 317!9 HYNI VINY

Let us be concerned in the case of a s'}1> wife (where he is a 7712), that perhaps
she was »nnn m», in which case there is only one doubt, namely whether she

was 1nnn 7 (and she is 12 7710R), or whether it was not 1"nmn (and she is permitted
to him).

mooIn explains why this cannot be the s'R13 question:
- *an21mn9m 110905 1990 PYLT 9199 139NT RNT NIV 81 NNT

For the X123 could have answered that the meaning of 0°21n2 vy PPV 129 1K

is regarding making her lose her ;7121n3; this he cannot do -
- 5191 DN MININ PHNN I9aNT NP*90 POV NI'NTY

For there is a X320 p2o; firstly it may have been 1°nnn X (where she retains her

721n2) and even if it were »nnn perhaps it was 9133 (and even an 173 nwx does not
lose her 72103 if it was 012 (even though she is 77927 7710K) —

mooIn stands by his refutation of M PX despite an anticipated difficulty:

!'See w1 "7 >"wA (and 191 X"wA). However *"wA does not limit the question to an 772 NWX (see footnote # 3).

* The s'%73 question (according to this 9% 1X) is that the X012 by saying that he has no 2°»na nivw, will dissuade
him from going to "2 if 722 nx¥»1. This in turn may cause him to live with his wife mo°Xa if »nnn anet. The
Xn*12 should have indicated that he can claim 0°91n2 v to verify whether he may continue being with his wife.

? By an %X7w° nwX there is no such concern, for even if she is a 7212 she is still permitted to him, since there is a 0
Xp’00; perhaps it was not 1nnn (and she is 2 n7Mn) and even if it was Ynnn, perhaps it was 0182 (and she is still
NN to him since an 70IRIW PRI NWK is 7°¥22 nnw). However by an 175 nwX who is 7%¥2% 7710K even if 70Ny,
there is only one 90 of 1°nrn or 1°nrn 11X and she should be poon MoK, See ‘“Thinking it over’.

* He cannot be 7°09m her 72105 even if he claims that nrn anar. If this claim were substantiated she would lose her
72103 (if 11¥12 n°7). However since he cannot prove it she retains her 7121n2.

> The answer to the purported question (according to the *"w19/9m12 1'X) is that even if there is a concern of anIT
1nnn, the X012 still states that he has no monetary 2°21n2 nwy (as Moo just explained), however he certainly can
come to 7"1 regarding the n°m 70K status of his wife. The Xn>72 was only discussing the monetary issue.
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And this is not an awkward answer, for previously the X723 also explained the

phrase 29102 nipw 3V »12° 1K in this manner (that it is discussing only a monetary

issue not an N7 MOK issue) -
- 919 XY INNPN 11193 *PYY NYDINY IN INDY S9N

Where the X723 asks, regarding what does the mwn say that there is no nivy
0°7n2 in a7, if the 099102 v is to forbid her to him, why is there no nivv

2°7102 in 777979, ete. It is evident from that X3 that the phrase 29102 nivw 7% X can refer
only to monetary issues and not to 2°M0°X; therefore we can also say here the same. There can be
no question of why is he not 1%¥ 710%% X1, for he definitely is (at least by 3775 NWR) -

= 19 091 1N INNAN 7999 NIININ NIN

But rather the X713 is asking regarding the 7713102, why he cannot make her lose

her 723103, since she may have been 1°’nnn 71n; however the difficulty with interpreting the
question in this matter, is that he cannot make her lose the 712103, since it is a Xp 90 poo, perhaps
it was not 1°nnn (so she retains her 72102), and even if it was 1nnn perhaps it was 01382, where she
also retains her 72102 (even by an 172 NWX [even though she is 9% 7710K]).

N1B0IN answers:
- %7598 SWN 29547 PNY 139399 NI

And it is the view of the s'"9 that the X711 asks on WX 29 that we should be
concerned 017 1°’NN X¥Y (and she may be 770X to him [if he is a 373]) and allow him to dispute
her entire 72102 —

= PYNY N1V 29 NY Y XN DIV NY PRT NYY NN NYYaT 1125

For since generally "wX 17 maintains that 79w2 nxxnaN 79902 npma 701> she
receives nothing, and here in the case of the Xn"™721 she receives a 711 because

TR 77101 (so she is presumed to be a 79W31) -
= N9 MY NNOYAT 2 DY GR 1Y YW NY 1199 A0 YWIND NTY DN Y NI 15 DN

Therefore there is the concern that he will come to transgress an MR, for this
second husband assumes that since this woman (whom I married 79102 npna)
receives a partial 72102, even though generally a woman who was married npnia
7212 DR¥NAN 7902 receives nothing (according to “wx 27) -

% Seemingly one may argue that it is a pm7 to say that 2702 N 12 PX refers only to monetary issues and not to
an°m MoK issues, since the expression 2°2102 N 12 PR would indicate that there is no 2°71n2 nwv at all even for
issues of 7n°7 MO°R. MBOIN proves that it is not a M7 to say so.

"3,0.

8 The xma there cited the 71wn here on X,2° which states 91 22102 PIVL 1LY 157 1R DTY2 K2W TT0°2 1AM 2IR 93IR7.
? The husband claims that he was not 9912 her while she was an 701X and he suspects her of being (1%12) nrin mam,
which would forbid her to him.

' According to (w11 71"7) *"wo the question is directed to the Xn*2 (whether according to 7127 or "X 27).
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Therefore (thinks the second husband) it is obvious that the 2°»517 presume her
to be a 79w2 X7 from the first husband, and the o°non want to say that I

married her with this in mind that she is a 79323, so thinks the second husband -
- 55y MADNS NY NIV 17 5125 AN DIN2)

And so it is in vain that I should trouble myself to go to 7''s2 and inform them
that she is a 772 (to ascertain whether she is MoX for me), for the 7"2 will

certainly not prohibit her from me, since the 72 assumes with certainty that she is a
7273 from her first husband,12 and there was no it at all. However in truth it is possible that she
was not a 1212 from the first husband (as the 0*7v testify), and she was 1°niin 7t and should be
2 770K (if he is a 3712) -

=19 79MNY Y Phyvs 89 197 529 N2YY NN 1P091Y 1Y NN a0

And therefore (in order to remedy this mistaken assumption by the husband) we
should make her lose the 712305 entirely, if he has a 0°91n2 nivw, so he will come
to 7'""2 (for the monetary claim) and will not mistakenly assume that she is

Y2 nanm (for he sees that 72 does not assume that she was a 79Wwa by the first husband, and
therefore 72 is granting him 2°9102 n1wv to deny her the 72102 entirely, since 77302 NP2 701D
2193 91 719192 NRYNAIY) —

mooIn takes his argument a step further:
- Ba10anY 199 ¥ HNIYW NYUNA 1999N)

And we should make her lose her 721> entirely even if she is an »X"w2°> nwx

(where there is no concern of M0°X since it is a X?°50 o0, nevertheless) she should lose her 7210 -
=197 5’29 N2 XD) 19 19w 4R 920 NNIND TANN XY 1Y )N ANIIY N993)

On account of a ;7713 that if a 37> will see that this woman (the "X nwX) does
not lose her 712103 (that proves they consider her a 79w2a from the first husband)
and he will assume that the same applies also in his case, so he will not come to
7''92, but really it is possible that she was 1°nrn 7am (even 0183) and she is 12 70K -

DYOMNY XYY NY W 393 NNAYYAT 119 219 7799 XY Na9Y YaN

' Otherwise (if they do not assume that I too realize that she is a 191y2) why are they giving her a 73» for her 72102
since 0175 X1 7127w2 nX¥m1?! That proves that the 030 presume that I too assume her to be a 792 since WX 7013.

"2 In fact not only did 7"2 assume it but they presumed that I too realized that she is a 792 from the first husband
and that it why they deny me the monetary 0°21n2 niyv and award her a 73n.

'3 His mistake is that he does not realize that there is a difference between 1 and MOR. As far a 171 is concerned
she receives a 11 because there is a X520 po0 (even by a 1713; see footnote # 5); however concerning 710°X there is no
X900 o0 regarding an 72 NWX since she is 770K even if it was 01X2 (see footnote # 3).

' This is an additional advantage of '9\n "5 on the 1 X. For according to the =% X the question of Wi is only
regarding an 1773 NWR (see footnote # 3), however according to Mo0N the question of W1 is even by 78w NWR.
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However according to 7129 there is no question at all,” for since generally a

79102 nx¥Ml also receives a 71n, there can be no mistake that the 7™ is certain that
she was a 17792 by the first husband (and therefore she was not »nnn n1m), because the reason
she receives now a mn is (regardless whether she was a 7212 by the first husband, but rather)
because by every 7212 nR¥AN 72102 NPINA 7010 she (still) receives a .16

SUMMARY

The question of N7 NN XAW WP is that since WX 27 maintains X1 7212 DRI
0172, we should allow the second husband a 2°>1n2 nivv (to pay nothing) in order
not to dissuade him from coming to 7"2 to verify whether 1Y 770K 1NWK.

THINKING IT OVER

Moo writes that by an J79 NwX there is only one P50 (whether 1nrn or nmn 1wx)."”
Seemingly by 170 nwX there is also a X050 po0; firstly there is the possibility that
she was never 7111 (and she is a 72132 from her first husband), and even if she was
m1m perhaps it was not nan (it was between the two marriages)!'®

"> When the Xn>12 stated 2712 nawv 12 PX that was referring to monetary issues, but obviously he can go to "2
regarding his permission to remain with his wife (if he is a 372). There is no reason why he will be hesitant to go
regarding 10°K, for no negative assumption about her 72102 status prior to his marrying her was made. She receives
a 711 because in all cases where she is a 7912 (whether 77102 nPIR2 7015 or not) she receives a 7n.

' Therefore he will come to 7"2 and claim 703’1 ¥nrn ¥aw and if it is verifiable she will lose her entire ;712105 and be
12 70K,

17 See footnote # 3.

' See (130 7"N2) AW 2",
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